Mises = 738 // displ = 3.20 Quad4, 1 elm
Mises = 15193 // displ = 0.94 Tria3, 1 elm
Mises = 23818 // displ = 3.20 Quad4, 2 elm
Mises = 28342 // displ = 1.86 Tria3, 2 elm
Mises = 31710 // displ = 3.20 Quad4, 3 elm
Mises = 38021 // displ = 2.53 Tria3, 3 elm 50000,
Mises = 47230 // displ = 3.20 Hex8, 1 elm 200
Mises = 15812 // displ = 1.08 Tet4, 1 elm G
21000.
Mises = 47515 // displ = 3.20 Hex20, 1 elm 18000.
Mises = 52328 // displ = 3.12 Tetl0, 1 elm 15000.
12000.
Mises = 47482 // displ = 3.20 Hex8, 2 elm
9000.
Mises = 23816 // displ = 1.86 Tet4, 2 elm
6000.
Mises = 38115 // displ = 2.44 Tet4, 3 elm
3000.

Vergeet me nietie ~ Theorie: Mises = 48000 // displ = 3.20

Bezoek www.femto.nl voor meer informatie



